

Article ID: 1000-8152(2001)03-0433-05

Performance Analysis of Least Mean Square Algorithm for Time-Varying Systems*

DING Feng, YANG Jiaben and DING Tao

(Department of Automation, Tsinghua University · Beijing, 100084, P. R. China)

Abstract: By means of stochastic process theory, the bounded convergence of least mean square algorithm (LMS) is studied without data stationary assumption and ergodicity condition. The upper bound of the estimation error is given, and the way of choosing the convergence factor or stepsize is stated so that the upper bound of the parameter estimation error is minimized. The convergence analyses indicate that i) for deterministic time invariant systems, LMS algorithm is convergent exponentially, ii) for deterministic time-varying systems, the estimation error upper bound is minimal as the stepsize goes to unity, and iii) for time-varying or time invariant stochastic systems, the estimation error is uniformly bounded.

Key words: time-varying system; identification; parameter estimation; least mean square algorithm

Document code: A

时变系统最小均方算法的性能分析

丁 锋 杨家本 丁 韬

(清华大学自动化系·北京, 100084)

摘要: 在无过程数据平稳性假设和各态遍历等条件下, 运用随机过程理论研究了最小均方算法(LMS)的有界收敛性, 给出了估计误差的上界, 论述了 LMS 算法收敛因子或步长的选择方法, 以使参数估计误差上界最小. 这对于提高 LMS 算法的实际应用效果有着重要意义. LMS 算法的收敛性分析表明: i) 对于确定性时不变系统, LMS 算法是指数速度收敛的; ii) 对于确定性时变系统, 收敛因子等于 1, LMS 算法的参数估计误差上界最小; iii) 对于时变或不变随机系统, LMS 算法的参数估计误差一致有上界.

关键词: 时变系统; 辨识; 参数估计; LMS 算法

1 Introduction

LMS algorithm is very important in the area of adaptive signal processing and identification, and its convergence has been paid more attentions. Many papers and publications studied the general convergence of the parameter estimation error (PEE) given by the LMS algorithm only from pure mathematics theory, and the convergence conditions are very strong, for example the data stationary, ergodicity condition, M -mixed conditions and so on, and any of them can not hold for any physical system. Ref. [1 ~ 4] show that the mean squares PEE, Error, satisfies

$$\lim_{n \rightarrow \infty} \text{Error} = O(\mu\sigma_v^2 + \frac{\sigma_w^2}{\mu}), \quad (1)$$

that is, there exists constant $A < \infty$ such that

$$\lim_{n \rightarrow \infty} \text{Error} \leq A(\mu\sigma_v^2 + \frac{\sigma_w^2}{\mu}), \quad (2)$$

where $0 < \mu < 2$ is a convergence factor, σ_v^2 and σ_w^2 are the variances of the observation noise and parameter change rate.

Since A is unknown, the general convergence has little significance in engineering. Therefore, Ding Feng^[5] has presented the bounded convergence, and the bounded convergence emphasizes the studies and estimation of the PEE upper bound so that the PEE upper bound is reduced.

The convergence analysis of identification algorithms is one of the most difficult projects in the area of control^[1-6]. In this paper the bounded convergence of the LMS algorithm is studied using stochastic process theory.

* Foundation item: supported by the National Natural Science Foundation of China (60074029, 69934010) and the Foundation of Information school, Tsinghua University.

Received date: 2000-01-20; Revised date: 2000-08-28.

The analysis indicates that like forgetting factor least squares (FFLS), the LMS algorithm can track time-varying parameters, but it has less computation. For the FFLS algorithm, as the forgetting factor approaches unity, the bounds of the covariance matrix and the parameter estimation error grow without limits even for time invariant systems whose parameters are constant.

2 LMS algorithm and basic lemmas

Consider the following linear time-varying system

$$A(t, z)y(t) = B(t, z)u(t) + v(t), \quad (3)$$

where $\{u(t)\}$ and $\{y(t)\}$ are the input and output sequences of the system, respectively, $\{v(t)\}$ is a stochastic noise sequence with zero mean, and z^{-1} is the unit backward shift operator, i. e. $z^{-1}y(t) = y(t-1)$, $z^{-1}u(t) = u(t-1)$, $A(t, z)$ and $B(t, z)$ are time-varying coefficient polynomials in the unit backward shift operator z^{-1} , and

$$A(t, z) = 1 + a_1(t)z^{-1} + a_2(t)z^{-2} + \cdots + a_{n_a}(t)z^{-n_a},$$

$$B(t, z) = b_1(t)z^{-1} + b_2(t)z^{-2} + \cdots + b_{n_b}(t)z^{-n_b}.$$

Define the information vector $\varphi(t)$ and the time-varying parameter vector $\theta(t)$ as

$$\begin{cases} \theta(t-1) = [a_1(t), a_2(t), \dots, a_{n_a}(t), b_1(t), \\ \quad b_2(t), \dots, b_{n_b}(t)]^T \in \mathbb{R}^n, n = n_a + n_b, \\ \varphi(t) = [-y(t-1), -y(t-2), \dots, -y(t-n_a), \\ \quad u(t-1), u(t-2), \dots, u(t-n_b)]^T \in \mathbb{R}^n, \end{cases}$$

where the superscript T denotes a matrix transpose.

Then equation (3) can be written in vector form as

$$y(t) = \varphi^T(t)\theta(t-1) + v(t), \quad (4)$$

where $\theta(t) \in \mathbb{R}^n$ is the time-varying parameter vector of the system to be identified, $\varphi(t) \in \mathbb{R}^n$ is the regressive information vector consisting of the observations up to time $(t-1)$.

The LMS algorithm of estimating the time-varying parameters $\theta(t)$ is expressed as

$$\hat{\theta}(t) = \hat{\theta}(t-1) + \mu_t \varphi(t) [y(t) - \varphi^T(t)\hat{\theta}(t-1)], \quad (5)$$

where $\hat{\theta}(t)$ is the estimate of $\theta(t)$ at time t , μ_t is a convergence factor or stepsize. The analysis indicates that as long as the convergence factor satisfies $0 < \mu_t \|\varphi(t)\|^2 < 2$, the LMS algorithm is convergent. For convenience, the LMS algorithm is generally modified as

$$\hat{\theta}(t) = \hat{\theta}(t-1) + \mu_t \frac{\varphi(t)}{1 + \|\varphi(t)\|^2} [y(t) - \varphi^T(t)\hat{\theta}(t-1)], \quad 0 < \mu_t < 2. \quad (6)$$

Lemma 1 For system (4) and algorithm (6), define the transition matrix

$$\begin{cases} L(t+1, i) = [I - \mu_t \frac{\varphi(t)\varphi^T(t)}{1 + \|\varphi(t)\|^2}]L(t, i), \\ L(i, i) = I, \mu_t \in (0, 1], \end{cases} \quad (7)$$

μ_t is non-increasing, and assume that the following strong persistent excitation condition holds^[5]:

(A1)

$$\begin{aligned} \alpha I &\leq \frac{1}{N} \sum_{i=0}^{N-1} \varphi(t+i)\varphi^T(t+i)\varphi^T(t+i) \leq \\ &\beta I, \text{ a.s.}, t > 0, \\ 0 < \alpha &\leq \beta < \infty, \text{ for some } N \geq n. \end{aligned}$$

Then

$$\begin{aligned} \rho_t &\triangleq \lambda_{\max}[L^T(t+N, t)L(t+N, t)] \leq \\ &1 - \frac{N\alpha\mu_{t+N-1}}{2(1+M)(N^2+1)}, \text{ a.s.}, M \triangleq nN\beta, \end{aligned}$$

where $\lambda_{\max}(X)$ represents the maximum eigenvalue of the matrix X .

Proof Let v_0 be the unit eigenvector corresponding to the maximum eigenvalue, ρ_t , of the matrix $L^T(t+N, t)L(t+N, t)$, and constructing difference equation^[6]

$$\begin{aligned} x_{i+1} &= [I - \mu_i \frac{\varphi(i)\varphi^T(i)}{1 + \|\varphi(i)\|^2}]x_i = \\ &L(i+1, i)x_i, x_i = v_0, \end{aligned} \quad (8)$$

using the property $L(t, i)L(i, s) = L(t, s)$, we have

$$\begin{aligned} x_{i+N} &= L(t+N, t)x_t = L(t+N, t)v_0, \\ \|x_{i+N}\|^2 &= v_0^T L^T(t+N, t)L(t+N, t)v_0 = \rho_t, \end{aligned}$$

$$\begin{aligned} x_{i+1}^T x_{i+1} &= x_i^T [I - \mu_i \frac{\varphi(i)\varphi^T(i)}{1 + \|\varphi(i)\|^2}]^2 x_i = \\ &x_i^T [I - 2\mu_i \frac{\varphi(i)\varphi^T(i)}{1 + \|\varphi(i)\|^2} + \\ &\mu_i^2 \frac{\|\varphi(i)\|^2 \varphi(i)\varphi^T(i)}{(1 + \|\varphi(i)\|^2)^2}] x_i \leq \\ &x_i^T [I - \frac{\mu_i(2 - \mu_i)\varphi(i)\varphi^T(i)}{(1 + \|\varphi(i)\|^2)}] x_i = \\ &x_i^T x_i - \mu_i(2 - \mu_i) \frac{\|\varphi^T(i)x_i\|^2}{1 + \|\varphi(i)\|^2}. \end{aligned}$$

For any $\mu_t \in (0, 2)$, equation (8) is stable. For simplifying proof, let $0 < \mu_t \leq 1$, we have

$$\mu_i(2 - \mu_i) \frac{\|\varphi^T(i)x_i\|^2}{1 + \|\varphi(i)\|^2} \leq \|x_i\|^2 - \|x_{i+1}\|^2,$$

$$\sum_{i=0}^{N-1} \mu_{t+i} \frac{\|\varphi^T(t+i)x_{t+i}\|^2}{1 + \|\varphi(t+i)\|^2} \leq$$

$$\sum_{i=0}^{N-1} \mu_{t+i}(2 - \mu_{t+i}) \frac{\|\varphi^T(t+i)x_{t+i}\|^2}{1 + \|\varphi(t+i)\|^2} \leq$$

$$\|x_t\|^2 - \|x_{t+N}\|^2 = 1 - \rho_t. \tag{9}$$

For any $i \in [0, N - 1]$, using the formula

$$(\sum a_i b_i)^2 \leq (\sum a_i^2)(\sum b_i^2),$$

from (8) and (9) we have

$$\|x_{t+i} - v_0\| =$$

$$\left\| \sum_{j=0}^{i-1} \mu_{t+j} \frac{\varphi(t+j)\varphi^T(t+j)x_{t+j}}{1 + \|\varphi(t+j)\|^2} x_{t+j} \right\| \leq$$

$$\sum_{j=0}^{i-1} \mu_{t+j} \frac{\|\varphi(t+j)\| \|\varphi^T(t+j)x_{t+j}\|}{1 + \|\varphi(t+j)\|^2} \leq$$

$$\left[i \sum_{j=0}^{i-1} \mu_{t+j}^2 \frac{\|\varphi^T(t+j)x_{t+j}\|^2}{1 + \|\varphi(t+j)\|^2} \right]^{1/2} \leq$$

$$\left[i \sum_{j=0}^{i-1} \mu_{t+j} \frac{\|\varphi^T(t+j)x_{t+j}\|^2}{1 + \|\varphi(t+j)\|^2} \right]^{1/2} \leq$$

$$\sqrt{i(1 - \rho_t)} \leq \sqrt{N(1 - \rho_t)}. \tag{10}$$

Taking the trace of condition (A1) gives

$$\|\varphi(t)\|^2 \leq M = nN\beta, \text{ a.s.}, t > 0. \tag{11}$$

Since μ_t is non-increasing, pre-multiplying and post-multiplying both sides of condition (A1) by v_0 and using (9) and (10) give

$$N_\alpha \leq v_0^T \sum_{i=0}^{N-1} \varphi(t+i)\varphi^T(t+i)v_0 \leq$$

$$\frac{1+M}{\mu_{t+N-1}} v_0^T \sum_{i=0}^{N-1} \mu_{t+i} \frac{\varphi(t+i)\varphi^T(t+i)}{1 + \|\varphi(t+i)\|^2} v_0 \leq$$

$$\frac{1+M}{\mu_{t+N-1}} \sum_{i=0}^{N-1} \mu_{t+i} \frac{\|\varphi^T(t+i)(v_0 - x_{t+i} + x_{t+i})\|^2}{1 + \|\varphi(t+i)\|^2} \leq$$

$$\frac{2(1+M)}{\mu_{t+N-1}} \left[\sum_{i=0}^{N-1} \mu_{t+i} \frac{\|\varphi^T(t+i)(x_{t+i} - v_0)\|^2}{1 + \|\varphi(t+i)\|^2} + \right.$$

$$\left. \sum_{i=0}^{N-1} \mu_{t+i} \frac{\|\varphi^T(t+i)x_{t+i}\|^2}{1 + \|\varphi(t+i)\|^2} \right] \leq$$

$$\frac{2(1+M)}{\mu_{t+N-1}} \left[\sum_{i=0}^{N-1} \|x_{t+i} - v_0\|^2 + (1 - \rho_t) \right] \leq$$

$$\frac{2(1+M)}{\mu_{t+N-1}} [NN(1 - \rho_t) + (1 - \rho_t)] =$$

$$\frac{2(1+M)}{\mu_{t+N-1}} (N^2 + 1)(1 - \rho_t), \text{ a.s.}$$

The conclusion of Lemma 1 is reached.

If condition (A1) becomes^[1]

$$(A2) \frac{1}{N} \sum_{i=0}^{N-1} \frac{\varphi(t+i)\varphi^T(t+i)}{1 + \|\varphi(t+i)\|^2} \geq$$

$\alpha I > 0$, a.s., $t > 0$, for some $N \geq n$.

Then

$$\rho_t \leq 1 - \frac{N\alpha\mu_{t+N-1}}{2(N^2 + 1)}, \text{ a.s.} \tag{12}$$

As $\mu_t = \mu \in (0, 1)$, ρ_t does not depend on t and may be denoted as ρ , i.e.

$$\rho \triangleq \rho_t \leq 1 - \frac{N\alpha\mu}{2(N^2 + 1)}, \text{ a.s.} \tag{13}$$

Lemma 2 Let non-positive sequences $\{x(t)\}$, $\{a_t\}$, $\{b_t\}$ satisfy the following relation:

$$x(t+1) \leq (1 - a_t)x(t) + b_t, t \geq 0$$

and $a_t \in [0, 1)$, $\sum_{i=1}^{\infty} a_i = \infty$, $x(0) < \infty$, then

$$\lim_{t \rightarrow \infty} x(t) \leq \lim_{t \rightarrow \infty} \frac{b_t}{a_t},$$

where it is assumed that the limit exists.

Proof See Ref. [1].

3 Convergence theorems of the LMS algorithm

Theorem 1 For the time-varying system (4) and algorithm (6), assume that the observation noise $\{v(t)\}$ and the parameter changing rate $\{w(t) = \theta(t) - \theta(t-1)\}$ are independent stochastic noises with zero mean and are uncorrelated with the input $\{u(t)\}$, i.e.

$$(A3) \quad E[v(t)] = 0, E[w(t)] = 0,$$

$$E[v(t)w(i)] = 0,$$

$$(A4) \quad E[v(t)v(i)] = 0,$$

$$E[w(t)w^T(i)] = 0, i \neq t,$$

$$(A5) \quad E[v^2(t)] = \sigma_v^2(t) \leq \sigma_v^2 < \infty,$$

$$E[\|w(t)\|^2] = \sigma_w^2(t) \leq \sigma_w^2 < \infty.$$

Condition (A2) holds, if the non-increasing convergence factor satisfies $\mu_t \in [\mu_0, 1]$, $\mu_0 > 0$, then the parameter estimation error, $\hat{\theta}(t) - \theta(t)$, given by the LMS algorithm (6) satisfies

$$\lim_{t \rightarrow \infty} E[\|\hat{\theta}(t) - \theta(t)\|^2] \leq$$

$$2N^2 \sum_{j=1}^{\infty} \Phi(i+1, j+1) [\mu_{N(j-1)+k+1}^2 \sigma_v^2 + \sigma_w^2] < \infty,$$

where

$$\Phi(i+1, j) = \rho_{N(i-1)+k+1} \Phi(i, j),$$

$$\Phi(i, i) = I, 0 \leq k \leq N-1.$$

if $\mu_t = \mu \in (0, 1]$, then

$$\lim_{t \rightarrow \infty} E[\|\hat{\theta}(t) - \theta(t)\|^2] \leq k_1 (\mu \sigma_v^2 + \frac{\sigma_w^2}{\mu}) \triangleq f(\mu),$$

where

$$k_1 = \frac{4N(N^2 + 1)}{\alpha}$$

Proof Define the parameter estimation error vector

$$\bar{\theta}(t) = \hat{\theta}(t) - \theta(t), \quad (14)$$

and assume that the $\bar{\theta}(0)$ and $|v(t)|$ are independent, $E[\|\bar{\theta}(0)\|^2] < \infty$, using (4) and (6), we have

$$\begin{aligned} \bar{\theta}(t) &= \hat{\theta}(t) - [\theta(t-1) + w(t)] = \\ \bar{\theta}(t-1) + \mu_i \frac{\varphi(t)}{1 + \|\varphi(t)\|^2} [-\varphi^T(t)\bar{\theta}(t-1) + v(t)] - w(t) &= \\ [I - \mu_i \frac{\varphi(t)\varphi^T(t)}{1 + \|\varphi(t)\|^2}] \bar{\theta}(t-1) + \frac{\mu_i \varphi(t)}{1 + \|\varphi(t)\|^2} v(t) - w(t) &= \\ L(t+1, t) \bar{\theta}(t-1) + \frac{\mu_i \varphi(t)}{1 + \|\varphi(t)\|^2} v(t) - w(t) &= \\ L(t+1, t-N+1) \bar{\theta}(t-N) + \\ \sum_{i=0}^{N-1} L(t+1, t-i+1) \left[\frac{\mu_i \varphi(t-i)}{1 + \|\varphi(t-i)\|^2} v(t-i) - w(t-i) \right]. \end{aligned} \quad (15)$$

Taking the norm $\|\cdot\|^2$ of both sides of (15) gives

$$\begin{aligned} \|\bar{\theta}(t)\|^2 &= \\ \bar{\theta}^T(t-N) L^T(t+1, t-N+1) L(t+1, t-N+1) \cdot \\ \bar{\theta}(t-N) + 2\bar{\theta}^T(t-N) L^T(t+1, t-N+1) \cdot \\ \sum_{i=0}^{N-1} L(t+1, t-i+1) \left[\frac{\mu_i \varphi(t-i)}{1 + \|\varphi(t-i)\|^2} v(t-i) - w(t-i) \right] &+ \\ \sum_{i=0}^{N-1} L(t+1, t-i+1) \cdot \\ \left[\frac{\mu_i \varphi(t-i)}{1 + \|\varphi(t-i)\|^2} v(t-i) - w(t-i) \right]^2 &\leq \\ \bar{\theta}^T(t-N) L^T(t+1, t-N+1) L(t+1, t-N+1) \cdot \\ \bar{\theta}(t-N) + 2\bar{\theta}^T(t-N) L^T(t+1, t-N+1) \cdot \\ \sum_{i=0}^{N-1} L(t+1, t-i+1) \left[\frac{\mu_i \varphi(t-i)}{1 + \|\varphi(t-i)\|^2} v(t-i) - w(t-i) \right] &+ \\ N \sum_{i=0}^{N-1} \|L(t+1, t-i+1) \cdot \\ \left[\frac{\mu_i \varphi(t-i)}{1 + \|\varphi(t-i)\|^2} v(t-i) - w(t-i) \right]\|^2. \end{aligned} \quad (16)$$

For any $i \geq 1$, the maximum eigenvalue of the matrix $L^T(t+1, t-i+1)L(t+1, t-i+1)$ is equal to or less than unity. Let $T(t) = E[\|\bar{\theta}(t)\|^2]$, taking the expectation of both sides of (16) and using Lemma 1 and conditions (A3) - (A5) give

$$T(t) \leq$$

$$\begin{aligned} \rho_{t-N+1} T(t-N) + 0 + \\ N \sum_{i=0}^{N-1} E \left[\left\| \frac{\mu_i \varphi(t-i)}{1 + \|\varphi(t-i)\|^2} v(t-i) - w(t-i) \right\|^2 \right] \leq \\ \rho_{t-N+1} T(t-N) + 2N \sum_{i=0}^{N-1} [\mu_i^2 \sigma_v^2 + \sigma_w^2] \leq \\ \rho_{t-N+1} T(t-N) + 2N \sum_{i=0}^{N-1} [\mu_i^2 \sigma_v^2 + \sigma_w^2], \end{aligned} \quad (17)$$

Let $t = N_i + k, 0 \leq k \leq N-1$, we have

$$\begin{aligned} T(t = N_i + k) &\leq \\ \rho_{N(i-1)+k+1} T(N(i-1) + k) + \\ 2N^2 [\mu_{N(i-1)+k+1}^2 \sigma_v^2 + \sigma_w^2] &= \\ \Phi(i+1, 1) T(k) + \\ 2N^2 \sum_{j=1}^i \Phi(i+1, j+1) [\mu_{N(i-1)+k+1}^2 \sigma_v^2 + \sigma_w^2], \end{aligned} \quad (18)$$

since $\mu_i \in [\mu_0, 1], \mu_0 > 0$, using (12), we have

$$\begin{aligned} \lim_{t \rightarrow \infty} E[\|\bar{\theta}(t)\|^2] &= \\ \lim_{t \rightarrow \infty} T(t = N_i + k) &= \lim_{t \rightarrow \infty} T(t = N_i + k) = \\ 2N^2 \sum_{j=1}^i \Phi(i+1, j+1) [\mu_{N(j-1)+k+1}^2 \sigma_v^2 + \sigma_w^2]. \end{aligned} \quad (19)$$

As $\mu_i = \mu \in (0, 1]$, using (13), we have

$$\begin{aligned} \lim_{t \rightarrow \infty} E[\|\bar{\theta}(t)\|^2] &= \frac{2N^2}{1-\rho} [\mu^2 \sigma_v^2 + \sigma_w^2] \leq \\ \frac{2N^2 2(N^2 + 1)}{N \alpha \mu} [\mu^2 \sigma_v^2 + \sigma_w^2]. \end{aligned} \quad (20)$$

This proves the assertion of Theorem 1.

Corollary 1 For time-varying stochastic systems

$$y(t) = \varphi^T(t)\theta(t-1) + v(t).$$

Let $f'(\mu) = 0$ in Theorem 1 give the best convergence

factor $\mu = \min(\frac{\sigma_w}{\sigma_v}, 1)$, the minimum estimation error

upper bound is

$$\min f(\mu) = \min(2k_1 \sigma_v \sigma_w, k_1 \sigma_v^2 + k_1 \sigma_w^2).$$

Theorem 2 For time-invariant systems

$$y(t) = \varphi^T(t)\theta + v(t),$$

under the assumptions of Theorem 1, condition (A2)

holds, if the convergence factor satisfies

$$\mu_i = \frac{1}{\rho^c}, \quad 0 < c \leq 1.$$

Then the mean square PEE, $E[\|\hat{\theta}(t) - \theta\|^2]$, given by the LMS algorithm (6) converges to zero at the rate

of $O(\frac{1}{\rho^c})$.

Proof Define the parameter estimation error vector

$$\tilde{\theta}(t) = \hat{\theta}(t) - \theta.$$

A similar derivation of Theorem 1 will give

$$\begin{aligned} T(t) &\leq \\ \rho_{t-N+1} T(t-N) + \\ N \sum_{i=0}^{N-1} E \left[\frac{\mu_{t-i} \varphi(t-i)}{1 + \|\varphi(t)\|^2} v(t-i) \right]^2 &\leq \\ \rho_{t-N+1} T(t-N) + N \sum_{i=0}^{N-1} [\mu_{t-i}^2 \sigma_v^2]. \end{aligned} \quad (21)$$

Using (12), it gives

$$\begin{aligned} T(t) &\leq \\ \rho_{t-N+1} T(t-N) + N^2 \mu_{t-N+1}^2 \sigma_v^2 &\leq \\ \left(1 - \frac{N\alpha}{2(N^2+1)t^c}\right) T(t-N) + \frac{N^2 \sigma_v^2}{(t-N+1)^{2c}}. \end{aligned}$$

Using Lemma 2, we have

$$\begin{aligned} \lim_{t \rightarrow \infty} E[\|\hat{\theta}(t) - \theta\|^2] &\leq \\ \lim_{t \rightarrow \infty} \frac{N^2 \sigma_v^2}{t^{2c}} \frac{2(N^2+1)(t-N+1)^c}{N\alpha}. \end{aligned}$$

This completes the proof of Theorem 2.

References

[1] Guo Lei. Time-Varying Stochastic Systems: Stability, Estimation and Control [M]. Changchun: Jilin Science and Technology Press,

1993

- [2] Ljung L and Priouret P. A result on the mean square error obtained using general tracking algorithms [J]. *Int. J. Adaptive Control and Signal Processing*, 1991, 5(4): 231 - 250
- [3] Ljung L and Priouret P. Remarks on the mean square tracking error [J]. *Int. J. Adaptive Control and Signal Processing*, 1991, 5(6): 395 - 403
- [4] Guo L, Ljung L and Priouret P. Performance analysis of the forgetting factor RLS algorithm [J]. *Int. J. Adaptive Control and Signal Processing*, 1993, 7(6): 525 - 527
- [5] Ding Feng and Yang Jiaben. Comments on martingale hyperconvergence theorem and the convergence analysis of the forgetting factor least squares algorithms [J]. *Control Theory and Applications*, 1999, 16(4): 569 - 572 (in Chinese)
- [6] Ding Feng and Yang Jiaben. Convergence analysis of multi-innovation identification under attenuating excitation condition for deterministic system [J]. *J. of Tsinghua University*, 1998, 38(9): 111 - 115 (in Chinese)

本文作者简介

丁 锋 1963年生, 1990年和1994年在清华大学自动化系分别获得硕士学位和博士学位. 现任清华大学自动化系副教授. 研究兴趣为自适应辨识与控制及其应用. 以第一作者发表学术论文40余篇.

杨家本 1936年生, 1959年毕业于清华大学动力系. 现任清华大学自动化系教授, 博士生导师. 主要研究方向为系统工程和复杂系统的自组织理论与应用.

丁 颖 1977年生, 1999年毕业于清华大学自动化系. 现为清华大学自动化系硕士生. 主要研究方向为大系统理论及应用.